[ Efficiency vs vertpos |

—_

20.09
4
20.08
(8]
§0.07
£0.06

=

0.04

Ratio

N
>
[
>

c

efficiency

Ratio

$0.45

0.4

0.05]

0.03
0.02
0.0

IIIIIIIIIIIIII!.I-I-I-I-!.I-I-I‘.'—I—I—I—I.!—I—LII!IIII!IIII!‘IIII

0.5

0.4
0.35
0.3
0.25
0.2
0.15

O.1F--o-heemees freeeens B ’

E : W e -------

R ";-+-+;+-++**?¢¥M#E~.. % S
-....|....F....l....i....i....
q_ """" D ‘ |||TIIT||||||

! SRR ,

IHfﬁ"ﬁEfff

-30 -20 -10 0

N
>
o
E
n
(%]
>

>
[S]
c
o
£

Ratio

10 20 30
TP vert z (cm)

0.5

-
Y R s e
0 TS 5 S S o o
00
2028 | o
(3] . . . . . . .
O R R A O A 11/t
'y R
N
0.05—----5------5--+ :

510 15 20
Sim. PV z (cm)




	Contents
	Page 1


